
 

 

 

Λύσεις διαγωνίσματος φυσικής  

Α λυκείου ΕΠΑΛ 

17/02/24 

Θέμα Α 

Α1. Γ 

Α2. Γ 

Α3. Β 

Α4. Δ 

Α5. Δ 

 

Θέμα Β  

Α. Β = m·g = 10·10 = 100 N 

ΣF = 0 ή Τ – Β = 0 ή Τ = Β = 100 Ν 

 

Β. ΣFy =  F2 –  F4 = 10 – 6 = 4 N 

ΣFx =  F1 –  F3 =  10 – 7 = 3N 

ΣF = √𝛴Fx
2 + ΣFy

2 =  √32 + 42 = √9 + 16 = √25 = 5 N 

εφω = 
ΣFy

ΣFx
 = 

4

3
 

 

 

 

 

 

 



 

 

Θέμα Γ 

α) Ε.Ο.Ε+ με u0  

β) α = 
Δu

Δt
 = 

30−10

10
 = 2 m/s2  

β) s =uo∙t+ 
1

2
∙α∙t2 =10∙10+ 

1

2
∙2∙102 = 100+100=200 m 

γ) 

 

   

Θέμα Δ 

α) u = uo-α∙t ή 0=20-2∙t ή 2∙t=20 ή t=10 s 

β) s = uo∙t - 
1

 2
∙α∙t2 ή s = 20∙10 - 

1

 2
 ∙ 2 ∙ 102 ή s=200- 100 =100 m 

γ) 

 

 

 

 

 

 

 

α(m/s2) 

t(s) 10 

s(m) 

t(s) 10 

200 

2 

α (m/s2) 

t(s) 
2 

10 

u(m/s) 

t(s) 
10 

20 

s(m) 

t(s) 

100 

10 


